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VMHOXeHHne JCCATHYHBIX 3HAKOB Ha CTCIICHDb ACCATU

5,257 x 100 =

5,299 x 100 =

7,345 x 100 =

9,61 x 10000 =

3,66 x 10000 =

2,359 x 100 =

2,546 x 100 =

4,413 x 100 =

7,22 x 100000 =

9,567 x 10 =

7, 846 x 100000 =

[ara:

3, 8 x 1000000 =

1, 735 x 1000000 =

5,245 x 1000 =

9,516 x 10 =

3,479 x 100 =

6,218 x 1000000 =

1, 72 x 1000000 =

2,988 x 1000000 =

9,237 x 10000 =
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Orenka:
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@ == I“I PRSS yMHO)KCHI/IC ACCATUYHBIX 3HAKOB Ha CTCIICHDb ACCATU

Pws: Jata: ____ Ouemka:
5,257 x 100 = 525.7 7, 846 x 100000 = 784600
5,299 x 100 = 529.9 3, 8 x 1000000 = 3800000
7,345 x 100 = 734.5 1,735 x 1000000 = 1735000
9,61 x 10000 = 96100 5,245 x 1000 = 5245
3,66 x 10000 = 36600 9,516 x 10 =95.16
2,359 x 100 = 235.9 3,479 x 100 = 347.9
2,546 x 100 = 254.6 6,218 x 1000000 = 6218000
4,413 x 100 =441.3 1,72 x 1000000 = 1720000
7,22 x 100000 = 722000 2,988 x 1000000 = 2988000
9,567 x 10 = 95.67 9,237 x 10000 = 92370
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